
Tel. 04 68 25 38 16

Fax. 04 68 72 51 61

144,427518kgPoids :Poids :Poids :Poids :

ROUTE DE MONTRÉAL BP.1017

11850 CARCASSONNE CEDEX 9

CULTIVATEUR REGLABLE V7D-V9D-V11D

06/05/2013

190

40

923010 081081

9907010

9908030
900077

Extension 
9 -> 11 dents

Extension 
7 -> 9 dents

Option :
ROUECULTMIC

2628

28

910033

Rechange

1

2

3

22

35

23

30

4

24

33

34

19

6

20
87

9

10

21

11

12

31

14

32

15

26

29

16

17

5

28

18
27



CULTI MICRO V7D-V9D-V11D
14/06/13

REP REF DESIGNATION V7D V9D V11D

1 080307 AXE DE B.I. COMPLET 2

2 144101 AXE SUPERIEUR AVEC CHAINETTE 1

3 081290 BATI DE BASE 1

4 9900225 ECROU H M20 2

5 081283 ENSEMBLE ECROU 1

6 075568 GOUPILLE ANNEAUØ10+LIEN CAOUTC 2

7 080801 LONGERON INFERIEUR 1

8 080803 LONGERON SOYE 1

9 540041 MANIVELLE 1

10 185019 PATTE B.I 2

11 081051 POTENCE 1

12 185002 RENFORT POTENCE CM11 1

14 9908020 RONDELLE MN 0 2O 1

15 9908067 RONDELLE W 0 2O 2

16 9961915 VIS H 16X30/30 2

17 9962057 VIS H 20X55/55 CLASSE 8.8 2

18 080808 BIELLETTE 2

19 9907089 GOUPILLE MECANINDUS 5X35 119 9907089 GOUPILLE MECANINDUS 5X35 1

20 081280 LONGERON AVEC CHAPE 2

21 080800 PLAQUE SUPPORT DENT 6 +2

22 910035 BRIDE 50X6 7 +2 +4

23 9900215 ECROU H M12 7 +2 +4

24 910034 ENS. DENT 32X10 + SOC 7 +2 +4

25 9908069 RONDELLE W 0 12 7 +2 +4

26 9962081 VIS H 12X45/30 7 +2 +4

27 9900544 ECROU FREIN H M14 19 +2

28 9962031 VIS H 14X50/34 CL.8.8 17 +4

29 9961950 VIS H 14X60/30 cl. 8-8 2

30 9900216 ECROU H M14 2

31 9908014 RONDELLE MN 0 14 2

32 9908072 RONDELLE W 0 14 2

33 081281 EXTENSIBILITE EXTERIEURE +2

34 081282 EXTENSIBILITE INTERIEURE +2

35 9900542 ECROU FREIN H M12 +8


